Математика.
1) Заполни пропуски.
…. + 8 = 14               …. – 6 = 7               12 - … = 9

15 - … = 8                 5 + …. = 11             … + 8 = 16

2) Реши.

56 + 40 =                   69 – 5 =                   2 * 9 = 

43 + 21 =                   84 – 32 =                 2 * 2 =

25 + 5 =                     40 – 3 =                    2 * 5 =

72 + 16 =                    80 – 10 =                 7 * 2 =

3) Пончик съел 8 пирожков с мясом, а пирожков с капустой на 5 больше.

Сколько всего пирожков с мясом и капустой съел Пончик?

